ON ELEMENTARY ESTIMATES OF ARITHMETIC SUMS FOR POLYNOMIAL RINGS OVER FINITE FIELDS

J. C. ANDRADE, A. SHAMESALDEEN, AND C. SUMMERSBY

ABSTRACT. In this paper, a simple and elementary method is given for deriving estimates of sums of arithmetic functions in $\mathbb{F}_q[t]$. The method is the function field analogue of a result first proved by Stefan A. Burr in 1973 in the number field case. A novelty of this paper is that we are able to extend Burr's result, in the function field context, and obtain secondary main terms for the appropriate sums involving the divisor functions $d_r(f)$ with an error term that improves the one given by Burr.

1. INTRODUCTION

Burr [3] gave a variant of a method developed by Bateman [2] and Tull [10, 11] to estimate sums of arithmetic functions by means of convolution arguments. The estimates provided by Burr are generally uniform over a class of functions appearing in the summation and the results prove useful in applications of Selberg's sieve, where the functions appearing tend to be rather complicated.

When applying Selberg's sieve, the required estimates are of a rather special type, meaning that it is useful to have easily applicable and simple estimates. The results in Burr's paper [3] were derived in order to ensure greater accessibility to exploring such applications. It is also important to notice that Burr, in his paper [3], has focused on some simple results that can be greatly generalized.

The main result presented in Burr's paper is given below.

Theorem 1.1 (Burr [3], Theorem 1). Let f be an arithmetic function and let g be such that

$$f(n) = \sum_{d|n} g(d)d_r(n/d),$$

with $r \ge 2$ and $d_r(n)$ being the r-fold divisor function. Also let F(s) and G(s) be the Dirichlet series associated to f(n) and g(n) respectively and

Date: September 17, 2018.

²⁰¹⁰ Mathematics Subject Classification. Primary 11N37; Secondary 11N56, 11T55.

Key words and phrases. finite fields, polynomial ring over a finite field, arithmetic functions, divisor functions.

$$G_1(s) = \sum_{n=1}^{\infty} \frac{|g(n)|}{n^s}$$
 and $G_2(s) = |g(1)| + \sum_{n=2}^{\infty} \frac{|g(n)| \log n}{n^s}$

Suppose that $G_2(1)$ exists. Then

(1.1)
$$\sum_{n \le x} f(n) = \frac{1}{(r-1)!} G(1) x (\log x)^{r-1} + O(G_2(1) x (\log x)^{r-2})$$

and

(1.2)
$$\sum_{n \le x} \frac{f(n)}{n} = \frac{1}{r!} G(1) (\log x)^r + O(G_2(1)(\log x)^{r-1}),$$

where the implied constants depend only on r.

In the first part of this paper (see Section 2) we prove a function field analogue of Theorem 1.1. As an illustration of Burr's results we also prove an estimate involving the divisor function over square-free polynomials that are coprime to a fixed monic polynomial in $\mathbb{F}_q[t]$. This application of Burr's theorem in $\mathbb{F}_q[t]$ is typical when using Selberg's sieve over the ring of polynomials over a finite field. For more details about the Selberg sieve in $\mathbb{F}_q[t]$ see [12]. In the second part of this paper (Section 3) we extend Burr's result, in the function field context, and obtain secondary main terms for the appropriate sums involving the divisor functions $d_r(f)$ with an error term that improves the one given by Burr.

2. Burr's Theorem in Function Fields

Before we state the main result of this section we first introduce some notation and some auxiliary results.

Let \mathbb{F}_q be a finite field with q elements where q is a prime power. We denote $A = \mathbb{F}_q[t]$ the polynomial ring over \mathbb{F}_q and the norm of a polynomial in A is defined to be $|f| = q^{\deg(f)}$.

Let F and G be two arithmetic functions in $\mathbb{F}_q[t]$. We denote by $F^*(s)$, $G^*(s)$, $G_1^*(s)$, and $G_2^*(s)$ the following Dirichlet Series

(2.1)
$$\sum_{f \text{ monic}} \frac{F(f)}{|f|^s}$$

(2.2)
$$\sum_{q \text{ monic}} \frac{G(g)}{|g|^s},$$

(2.3)
$$\sum_{g \text{ monic}} \frac{|G(g)|}{|g|^s},$$

and

(2.4)
$$|G(1)| + \sum_{\substack{g \text{ monic} \\ \deg(g) \ge 1}} \frac{|G(g)|\deg(g)}{|g|^s},$$

respectively. Next, let f be a monic polynomial in $\mathbb{F}_q[t]$ and we also define $d_r(f)$ to be the number of ways that f can be expressed as a product of r monics (taking order into account). Note that $\zeta_A^r(s)$ is the Dirichlet series generating function of d_r , where

(2.5)
$$\zeta_A(s) = \sum_{f \text{ monic}} \frac{1}{|f|^s} = \frac{1}{1 - q^{1-s}}$$

We will need the results of the following lemma.

Lemma 2.1. Let $d_r(f)$ defined as above. Then we have the following:

(2.6)
$$\sum_{\substack{f \ monic\\ deg(f)=n}} d_r(f) = q^n \binom{n+r-1}{r-1},$$

and

(2.7)
$$\sum_{\substack{f \ monic\\ deg(f)=n}} d_r(f) = \frac{1}{(r-1)!} q^n n^{r-1} + O(q^n n^{r-2}).$$

Moreover, we have

(2.8)
$$\sum_{\substack{f \ monic\\ deg(f)=n}} \frac{d_r(f)}{|f|} = \frac{1}{(r-1)!} n^{r-1} + O(n^{r-2}).$$

Proof. See Lemma 2.2 in [1] for a proof of (2.6). The equations (2.7) and (2.8) follows easily from (2.6). \Box

We now state the main result of this section which can be seen as the function field analogue of Burr's result.

Theorem 2.1. Let F be an arithmetic function in $\mathbb{F}_q[t]$ and let G be such that

(2.9)
$$F(f) = \sum_{\substack{h \text{ monic}\\h|f}} G(h)d_r(f/h)$$

with $r \geq 2$ and suppose $G_2^*(1)$ exists. Then,

(2.10)
$$\sum_{\substack{f \ monic\\ deg(f)=n}} F(f) = \frac{1}{(r-1)!} G^*(1) q^n n^{r-1} + O(G_2^*(1) q^n n^{r-2})$$

and

(2.11)
$$\sum_{\substack{f \text{ monic} \\ deg(f)=n}} \frac{F(f)}{|f|} = \frac{1}{(r-1)!} G^*(1) n^{r-1} + O(G_2^*(1) n^{r-2})$$

where the implied constants depend only on r.

Proof. We prove (2.10) first. Making use of (2.9) and (2.7), we have

$$\sum_{\substack{f \text{ monic} \\ \deg(f)=n}} F(f) = \sum_{\substack{h,j \text{ monic} \\ \deg(hj)=n}} G(h) d_r(j)$$

$$(2.12) \qquad = \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} G(h) \sum_{\substack{j \text{ monic} \\ \deg(j)=n-\deg(h)}} d_r(j)$$

$$= \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} G(h) \left(\frac{1}{(r-1)!} \frac{q^n}{|h|} (n-\deg(h))^{r-1} + O\left(\frac{q^n}{|h|} n^{r-2}\right)\right).$$

Expanding $(n - \deg(h))^{r-1}$ and after some elementary arithmetic manipulations with the error term we obtain that

$$\begin{split} \sum_{\substack{f \text{ monic} \\ \deg(f)=n}} F(f) &= q^n \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} \left(\frac{1}{(r-1)!} \right) \\ &\times \left(n^{r-1} - (r-1)n^{r-2} \deg(h) + \dots + (-1)^{r-1} \deg(h)^{r-1} \right) + O(n^{r-2}) \right) \\ &= \frac{1}{(r-1)!} q^n n^{r-1} \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} + O\left(q^n n^{r-2} \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} (\deg(h) + 1) \right) \\ &= \frac{1}{(r-1)!} q^n n^{r-1} \sum_{\substack{h \text{ monic} \\ \log(h) \le n}} \frac{G(h)}{|h|} + O\left(q^n n^{r-2} \sum_{\substack{h \text{ monic} \\ \deg(h) > n}} \frac{|G(h)| \deg(h)}{|h|} \right) \\ &+ O\left(q^n n^{r-2} \left(|G(1)| + \sum_{\substack{h \text{ monic} \\ 1 \le \deg(h) \le n}} \frac{|G(h)| \deg(h)}{|h|} \right) \right) \\ &= \frac{1}{(r-1)!} G^*(1) q^n n^{r-1} + O(G_2^*(1) q^n n^{r-2}), \end{split}$$
(2.13)

which establishes the desired formula where it is clear the implied constant depends only on r.

The formula given in (2.11) may be proved similarly. Using (2.9) and (2.8) we have that

$$\begin{split} \sum_{\substack{f \text{ monic} \\ \deg(f)=n}} \frac{F(f)}{|f|} &= \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} + \sum_{\substack{j \text{ monic} \\ \deg(j)=n-\deg(h)}} \frac{d_r(j)}{|j|} \\ &= \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} \left(\frac{1}{(r-1)!} (n - \deg(h))^{r-1} + O(n^{r-2}) \right) \\ &= \frac{1}{(r-1)!} \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} \\ &+ O\left(n^{r-2} \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} (\deg(h) + 1) \right) \\ &= \frac{1}{(r-1)!} n^{r-1} G^*(1) + O\left(n^{r-2} \sum_{\substack{h \text{ monic} \\ \deg(h) > n}} \frac{|G(h)| \deg(h)}{|h|} \right) \\ &+ O\left(n^{r-2} \left(|G(1)| + \sum_{\substack{h \text{ monic} \\ 1 \le \deg(h) \le n}} \frac{|G(h)| \deg(h)}{|h|} \right) \right) \\ &= \frac{1}{(r-1)!} G^*(1) n^{r-1} + O(G_2^*(1) n^{r-2}). \end{split}$$

Again, the implied constant depends only on r. This concludes the proof of the theorem. \Box

For our next result we require the following lemma.

Lemma 2.2. Let $f \in \mathbb{F}_q[t]$, and P denote irreducible monics in $\mathbb{F}_q[t]$. Then we have that

(2.15)
$$\prod_{P|f} (1+1/|P|) = O(\log(\deg(f))),$$

and

(2.16)
$$1 + \sum_{P|f} \frac{\log |P|}{|P|} = O(\log (\deg (f))).$$

Proof. The proof of this lemma follows the same ideas as those based on standard estimates involving primes, for instance, see ([5], Chapter XXII).

By Mertens' second theorem [7] and its function field analogue proved by Rosen in [9] we have that

(2.17)
$$\sum_{\substack{P \\ \deg P \le n}} \frac{1}{|P|} = \sum_{k=0}^{n} \left(\frac{1}{q^{k}} \sum_{\deg P = n} 1 \right) = \sum_{k=0}^{n} \frac{1}{k} \sim \log (\deg f),$$

so when dealing with $\sum_{P|f} \frac{1}{|P|}$ we consider irreducible monics dividing f with degree $\leq \log (\deg f)$, then the irreducible monics dividing f with degree $> \log (\deg f)$. The contribution given by irreducible monics of large degree to $\sum_{P|f} \frac{1}{|P|}$ is bounded by a constant and the contribution of monic irreducibles of small degree is bounded by $\log (\log (\deg f))$ by (2.17). It follows that

$$\prod_{P|f} (1+1/|P|) = O\left(\exp\left(\sum_{P|f} \frac{1}{|P|}\right)\right) = O\left(\log\left(\deg f\right)\right).$$

and so (2.15) is proved. We may prove (2.16) similarly, again through the use of Mertens' Theorem. $\hfill \Box$

To apply Theorem 2.1 to a function F, it is necessary to determine a relation as in (2.9). In the case of a multiplicative function, it is suitable to use the Dirichlet series. If $F^*(s) = G^*(s)\zeta_A^r(s)$, then it is clear that the arithmetic function G will satisfy (2.9). If $G_2^*(1)$ exists, then the theorem may be used, and G need not be known, since the result requires only $G^*(1)$ and $G_2^*(1)$. This is explained with the following theorem:

Theorem 2.2. If $r \ge 2$ an integer and N monic, then we have that

(2.18)
$$\sum_{\substack{f \; monic; \\ deg(f)=n; \\ (f,N)=1}} \frac{\mu^2(f)d_r(f)}{|f|} = C(N)n^r + O\left(n^{r-1}\log^{r+1}\left(\deg\left(N\right)\right)\right)$$

where the implied constant depends only on r, and

$$C(N) = \prod_{P|N} \left(1 + \frac{r}{|P|} \right)^{-1} \prod_{P} \left(1 - \frac{1}{|P|} \right)^{r} \left(1 + \frac{r}{|P|} \right)$$

Here the second product runs over all monic irreducibles in $\mathbb{F}_{q}[t]$.

Proof. Let $\chi_N(f)$ be 1 if (f, N) = 1, and 0 otherwise. Then we take $F(f) = \mu^2(f)\chi_N(f)d_r(f)$ and the sum can be written as

$$\sum_{\substack{f \text{ monic} \\ \deg(f)=n}} \frac{F(f)}{|f|}.$$

Now, writing $F^*(s)$ as an Euler product we have that

$$F^{*}(s) = \prod_{P} \left(1 + \chi_{N}(P) \frac{r}{|P|^{s}} \right) = \prod_{P \nmid N} \left(1 + \frac{r}{|P|^{s}} \right)$$

$$(2.19) \qquad = \zeta_{A}^{r}(s) \prod_{P} \left(1 - \frac{1}{|P|^{s}} \right)^{r} \prod_{P \nmid N} \left(1 + \frac{r}{|P|^{s}} \right)$$

$$= \zeta_{A}^{r}(s) \prod_{P} \left(1 - \frac{1}{|P|^{s}} \right)^{r} \left(1 + \frac{r}{|P|^{s}} \right) \prod_{P \mid N} \left(1 + \frac{r}{|P|^{s}} \right)^{-1}$$

$$= \zeta_{A}^{r}(s) G^{*}(s).$$

This defines G^* and hence the function G. Note that the form of the Euler product for F^* made it clear what power of the zeta function $\zeta_A(s)$ should be removed from F^* . We now must estimate $G_2^*(1)$. In pursuing this, we rewrite G^* as

$$\begin{aligned} G^*(s) &= \prod_{P|N} \left(1 - \frac{1}{|P|^s} \right)^r \prod_{P \nmid N} \left(1 - \frac{1}{|P|^s} \right)^r \left(1 + \frac{r}{|P|^s} \right) \\ &= \prod_{P|N} \left(1 - \frac{1}{|P|^s} \right)^r \prod_{P \nmid N} \left(1 - \frac{1}{2}r(r+1)\frac{1}{|P|^{2s}} + \dots \right), \end{aligned}$$

 \mathbf{SO}

(2.20)

$$G_1^*(s) = \prod_{P|N} \left(1 + \frac{1}{|P|^s} \right)^r \prod_{P \nmid N} \left(1 + \frac{1}{2}r(r+1)\frac{1}{|P|^{2s}} + \dots \right) = H(s)K(s).$$

Now,

$$G_2^*(1) = 1 - G_1^{*'}(1) = 1 - (H'(1)K(1) + H(1)K'(1)) = O(-H'(1) + H(1)),$$

since K(1) and K'(1) are bounded independently of N.

We have, by the product rule that

$$\begin{aligned} -H'(s) &= -\frac{d}{ds} \left(\prod_{P|N} (1 + \frac{1}{|P|^s})^r \right) \\ &= -\sum_{\substack{i=1;\\P_1 \cdots P_k = N}}^k \left(\frac{d}{ds} \left(1 + \frac{1}{|P_i|^s} \right)^r \prod_{j \neq i} \left(1 + \frac{1}{|P_j|^s} \right)^r \right) \\ &= -\left(\prod_{P|N} \left(1 + \frac{1}{|P|^s} \right)^r \right) \left(\sum_{P|N} \left(\frac{d}{ds} \left(1 + \frac{1}{|P|^s} \right)^r / \left(1 + \frac{1}{|P|^s} \right)^r \right) \right) \\ &= -H(s) \sum_{P|N} \left(-r \frac{1}{|P|^s} \log |P| \left(1 + \frac{1}{|P|^s} \right)^{r-1} / \left(1 + \frac{1}{|P|^s} \right)^r \right) \\ &= rH(s) \sum_{P|N} \left(\frac{1}{|P|^s} \log |P| / \left(1 + \frac{1}{|P|^s} \right) \right). \end{aligned}$$

Therefore,

$$-H'(1) + H(1) = O\left(\prod_{P|N} \left(1 + \frac{1}{|P|}\right)^r \left(1 + \sum_{P|N} \frac{\log|P|}{|P|}\right)\right).$$

Using Lemma 2.2, we deduce $\prod_{P|N} (1 + 1/|P|) = O(\log(\deg(N)))$ and

$$1 + \sum_{P|N} \frac{\log |P|}{|P|} = O(\log (\deg(N))).$$

Therefore,

$$G_2^*(1) = O(\log^{r+1} (\deg(N))).$$

Using the fact that (2.19) implies a relation like (2.9), and observing that $G^*(1) = C(N)$, (2.11) yields

$$\sum_{\substack{f \text{ monic} \\ \deg(f)=n}} \frac{F(f)}{|f|} = C(N)n^r + O\left(n^{r-1}\log^{r+1}\left(\deg(N)\right)\right),$$

as required.

In the classical case, by using Selberg's sieve and Theorem 1.1 it is fairly simple to give an upper bound for the number of $n \leq M$ for which n + m

 $t_1, \dots, n + t_r$ are all primes. This bound in turn is the starting point for an elementary solution of the Waring-Goldbach problem. For details see [4]. We are led to believe that the same arguments from [4] with the Selberg's sieve for polynomials over finite fields [12] can be adapted to provide an elementary solution to the function field version of the Waring-Goldbach problem, but we have not pursued this here since this is not the main aim of this note.

3. Extending Burr's Results

In this section we extend Theorem 2.1 to include secondary main terms by improving on the original error term. The two main ingredients that enable us to obtain better error terms and extract secondary terms is the use of the analogue of Rankin's trick in the context of $\mathbb{F}_q[t]$ and the fact that we have exact formulas for the mean values of divisor functions $d_r(f)$ in $\mathbb{F}_q[t]$. These two ingredients with a careful analysis of the main term and the error term lead us to the desired results which are presented below. We present the full details for the cases when f can be expressed as a product of 2 and 3 monic polynomials, i.e., when r = 2 and r = 3 and then we present the formula for the general case.

Before we establish the formulas with the secondary main terms we need first to discuss the so-called "Rankin's method", which will be used to obtain the desired formulas. In 1938, Rankin [8] introduced an elementary method to bound sums of arithmetic functions by its Dirichlet series. The main idea is that for a multiplicative function f, which takes non-negative values and $\alpha > 0$ we have that

(3.1)

$$\sum_{n \le x} f(n) \le \sum_{n \le x} f(n) \left(\frac{x}{n}\right)^{\alpha}$$

$$\le x^{\alpha} \sum_{n=1}^{\infty} \frac{f(n)}{n^{\alpha}}$$

$$= x^{\alpha} \prod_{P} \left(1 + \frac{f(P)}{P^{\alpha}} + \frac{f(P^{2})}{P^{2\alpha}} + \cdots\right).$$

It is worth noting that Rankin's method plays a prominent role in several places in analytic number theory, especially in sieve methods (see [6] for more details).

For our purposes, we need an analogue of the above inequality in $\mathbb{F}_q[t]$. It is easy to check that if F is a multiplicative function in $\mathbb{F}_q[t]$, which takes non-negative values, then for any $\alpha > 0$ we have that

(3.2)

$$\sum_{\substack{f \text{ monic} \\ \deg(f) \le x}} F(f) \le \sum_{\substack{f \text{ monic} \\ \deg(f) \le x}} F(f) \left(\frac{q^x}{q^{\deg(f)}}\right)^{\alpha}$$

$$\le q^{\alpha x} \sum_{\substack{f \text{ monic} \\ f \text{ monic}}} \frac{F(f)}{|f|^{\alpha}}$$

$$= q^{\alpha x} \prod_{P} \left(1 + \frac{F(P)}{|P|^{\alpha}} + \frac{F(P^2)}{|P|^{2\alpha}} + \cdots\right).$$

3.1. The asymptotic formula when r = 2. Let F be a multiplicative function defined as in (2.9), and $f \in \mathbb{F}_q[t]$ be a monic polynomial of degree n. Then from Lemma 2.1 we have that

(3.3)
$$\sum_{\deg(f)=n} d_2(f) = \binom{n+1}{1} q^n$$
$$= (n+1)q^n.$$

Therefore, the sum of F(f) over all monic polynomials of degree n is

(3.4)
$$\sum_{\substack{f \text{ monic} \\ \deg(f)=n}} F(f) = \sum_{\substack{h,j \text{ monic} \\ \deg(hj)=n}} G(h) d_2(j)$$
$$= \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} G(h) \sum_{\substack{g \text{ monic} \\ \deg(j)=n-\deg(h)}} d_2(j).$$

Using (3.3) we have that,

$$\sum_{\substack{f \text{ monic} \\ \deg(f)=n}} F(f) = \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} G(h) \Big((n - \deg(h)) + 1 \Big) q^{n - \deg(h)}$$

$$= q^n \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} \Big((n + 1) - \deg(h) \Big)$$

$$(3.5) \qquad = q^n \left(\Big((n + 1) \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} - \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} \deg(h) \right).$$

$$= q^n C_{F_2} + O\Big(E_2(n)\Big),$$

where

(3.6)
$$C_{F_2} = (n+1) \sum_{h \text{ monic}} \frac{G(h)}{|h|} - \sum_{h \text{ monic}} \frac{G(h)}{|h|} \deg(h) \\ = (n+1)G^*(1) + G^{*'}(1),$$

and

$$E_{2}(n) = q^{n} \left((n+1) \sum_{\substack{h \text{ monic} \\ \deg(h) > n}} \frac{|G(h)|}{|h|} + \sum_{\substack{h \text{ monic} \\ \deg(h) > n}} \frac{|G(h)|}{|h|} \deg(h) \right)$$

$$(3.7) \qquad \ll q^{n} \sum_{\substack{h \text{ monic} \\ \deg(h) > n}} \frac{|G(h)|}{|h|} \deg(h)$$

$$\ll q^{\alpha n} \sum_{\substack{h \text{ monic} \\ h \text{ monic} \\ |h|^{\alpha}}} \frac{|G(h)|}{|h|^{\alpha}} \deg(h)$$

$$\ll q^{\alpha n} G_{2}^{*}(\alpha).$$

Note that we have used (3.2) and the fact that $\deg(h) > n$ to obtain the upper bound for $E_2(n)$. Hence

(3.8)
$$\sum_{\substack{f \text{ monic} \\ \deg(f)=n}} F(f) = q^n (n+1) G^*(1) + q^n G^{*'}(1) + O\left(q^{n\alpha} G_2^*(\alpha)\right),$$

where $\alpha \leq 1$. Observe that the formula above includes secondary main terms and $\alpha \leq 1$ so we have obtained a result that improves, in the function field case, Burr's original number field result.

3.2. The asymptotic formula when r = 3 and for a generic r. Let F, f be defined as before, then from Lemma 2.1 we have that

(3.9)
$$\sum_{\deg(f)=n} d_3(f) = \binom{n+2}{2} q^n \\ = \frac{n^2 + 3n + 2}{2} q^n$$

As in previous section, we can write the sum of F(f) over all monic polynomials of degree n as

$$\sum_{\substack{f \text{ monic} \\ \deg(f)=n}} F(f) = q^n \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} \left(\frac{(n - \deg(h))^2 + 3(n - \deg(h)) + 2}{2} \right)$$
$$= q^n \left(\left(\frac{n^2 + 3n + 2}{2} \right) \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} \right)$$
$$(3.10) \qquad - \left(\frac{2n + 3}{2} \right) \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} \deg(h) + \frac{1}{2} \sum_{\substack{h \text{ monic} \\ \deg(h) \le n}} \frac{G(h)}{|h|} (\deg(h))^2 \right)$$
$$= q^n C_{F_3} + O\left(E_3(n)\right),$$

where

$$C_{F_3} = \left(\frac{n^2 + 3n + 2}{2}\right) \sum_{h \text{ monic}} \frac{G(h)}{|h|} - \left(\frac{2n + 3}{2}\right) \sum_{h \text{ monic}} \frac{G(h)}{|h|} \deg(h)$$

$$(3.11) \qquad + \frac{1}{2} \sum_{h \text{ monic}} \frac{G(h)}{|h|} (\deg(h))^2$$

$$= \left(\frac{n^2 + 3n + 2}{2}\right) G^*(1) - \left(\frac{2n + 3}{2}\right) G^{*'}(1) + \frac{1}{2} G^{*''}(1),$$

and

$$E_{3}(n) = q^{n} \left(\left(\frac{n^{2} + 3n + 2}{2} \right) \sum_{\substack{h \text{ monic} \\ \deg(h) > n}} \frac{|G(h)|}{|h|} + \left(\frac{2n + 3}{2} \right) \sum_{\substack{h \text{ monic} \\ \deg(h) > n}} \frac{|G(h)|}{|h|} \deg(h) + \frac{1}{2} \sum_{\substack{h \text{ monic} \\ |h|^{\alpha}}} \frac{|G(h)|}{|h|^{\alpha}} (\deg(h))^{2} \right)$$
(3.12)
$$\ll q^{\alpha n} \sum_{\substack{h \text{ monic} \\ |h|^{\alpha}}} \frac{|G(h)|}{|h|^{\alpha}} (\deg(h))^{2} \\ \ll q^{\alpha n} G_{2}^{*'}(\alpha).$$

Thus,

(3.13)
$$\sum_{\substack{f \text{ monic} \\ \deg(f)=n}} F(f) = q^n \left(\left(\frac{n^2 + 3n + 2}{2} \right) G^*(1) + \left(\frac{2n + 3}{2} \right) G^{*'}(1) + \frac{1}{2} G^{*''}(1) \right) + O\left(q^{\alpha n} G_2^{*'}(\alpha) \right),$$

where $\alpha \leq 1$.

It should be observed that the results above can be extended to all divisor functions. In fact, with a little extra work we can deduce that for r = k and $\alpha \leq 1$, we have

(3.14)
$$\sum_{\substack{f \text{ monic} \\ \deg(f)=n}} F(f) = q^n \left(R_k(n) G^*(1) + \sum_{m=1}^{k-1} \frac{1}{m!} R_k^{(m)}(n) G^{*(m)}(1) \right) + O\left(q^{\alpha n} G_2^{*(k-2)}(\alpha)\right),$$

where

(3.15)
$$R_k(n) = \binom{n+k-1}{k-1}.$$

Note that the derivatives of R_k are taken with respect to n. While, the derivatives of G^* and G_2^* are taken with respect to s.

Acknowledgment: We would like to thank Professor Roger Heath-Brown for his comments in a previous version of the manuscript and for having informed us that it should be possible to extract secondary main terms in our main result through the use of Rankin's trick.

The first author is grateful to the Leverhulme Trust (RPG-2017-320) for the support through the research project grant "Moments of *L*-functions in Function Fields and Random Matrix Theory". The second author was supported by a Ph.D. scholarship from the government of Kuwait. The third author was supported by an EPSRC Vacation Bursary.

References

^[1] J. C. Andrade, L. Bary-Soroker, and Z. Rudnick, *Shifted convolution and the Titch-marsh divisor problem over* $\mathbb{F}_q[T]$, Philos. Trans. A 373 (2015), no. 2040, 20140308, 18pp. correction in Philos. Trans. A 374 (2016), no 2060, 20150360.

- [2] P. T. Bateman, Proof of a conjecture of Grosswald, Duke Math. J. 25 (1958), 67-72.
- [3] S. A. Burr, On Uniform Elementary Estimates of Arithmetic Sums, Proc. of the American Math. Soc., Vol. 39, No. 3 (1973), 497-502.
- [4] S. A. Burr, An elementary solution of the Waring-Goldbach problem, Ph.D. thesis, Princeton University, (1969).
- [5] G.H. Hardy and E.M. Wright, An introduction to the theory of numbers, 4th ed., Oxford Univ. Press, London, 1960.
- [6] D. Koukoulopoulos, *Sieve methods*, University of Montreal (2015), accessed 14 November 2017, http://www.dms.umontreal.ca/ koukoulo/documents/notes/
sievemethods.pdf>.
- [7] F. Mertens, *Ein Beitrag zur analytischen Zahlentheorie*, J. reine angew. Math. **78** (1874), 46-62.
- [8] R. A. Rankin, *The difference between consecutive prime numbers*, J. London Math. Soc. **13** (1938), 242-247.
- [9] M. Rosen, A generalization of Mertens theorem, J. Ramanujan Math. Soc. 14 (1999), 119.
- [10] J. P. Tull, Dirichlet multiplication in lattice point problems, Duke Math. J. 26 (1959), 73-80.
- [11] J. P. Tull, Dirichlet multiplication in lattice point problems II, Pacific J. Math. 9 (1959), 609-615.
- [12] W. A. Webb, Sieve methods for polynomial rings over finite fields, J. Number Theory 16 (1983), 343-355.

Department of Mathematics, University of Exeter, Exeter, EX4 4QF, United Kingdom

E-mail address: j.c.andrade@exeter.ac.uk

E-mail address: as1029@exeter.ac.uk

E-mail address: cjss201@exeter.ac.uk